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Polynomials

1. Findthe degree of a pol%omial
whose graph is given below

2. If the sum of the zeroes of the
quadratic polynomial 3x? — kx + 6is 3,
then the value of k

3. Find the other two zeroes of the
polynomial x* —8x* +19x—12if its
onezerois x=1,

4. Find the quadratic polynomial , the
sum and product of whose zeroes are

—3and 2,
5. Find the third zero of the polynomial

X +7x* —2x—14if two of its zeroes

are /2 and _\/_,

6. If a—b, a and a+b|ﬁzero§ohi0

the polynomial x* —3Xx" + x+1t

valueof a+b is
7. Avreal number ais called zero of the

polynomial f(x), then find the value
of f(a)
8.  Which of the following is a polynomial :

(@ x*4+Lt
X

(b) 2x* =3x +1
() 3x*-3x+1
d) x*+x°+7
9. Find the product and sum of zeroes of

the quadratic polynomial gx* +bx+c¢
10. Find the quadratic polynomial ,sum

and product of whose zeroes are 1
and -12 respectively

11. If the product of two of the zeroes of
the polynomial 2x* —9x* +13x — 6is
2, find the third zero of the
polynomial

Believe in knowledge . . |.

IN'='enious

Believe in Enmvll‘dge ..

12. The zeroes of a polynomial f(x)are

the coordinates of the points where
the graph y = f(x)intersects
(a) X-axis
(b) y-axis
(c) Origin
(d) (x,y)
(e)
13. If piszeroes of f(x)then

is one of the factor of f(x)

14. If (y_a)is factor f(y)then

is zero of f(y)
U SS Cubic polynemial x = f(y)cuts y-axis
at atmost
16. Find Zeroes of the polynomial 4x* —1

17. If 2is a zero of both the polynomial,

3x* +ax—14and 2x—bthen find the
value of (a — 2b)
18. If zeroes of the polynomial

ax’ + bx + care reciprocal of each
other then find the relation between
coefficients

19. Find three zeroes of

(x+4)(x2 —6x+8)

2/3/4 Marks

1. If aand B are the zeroes of the

polynomial 2x* —7x +3. Find the sum
of the reciprocal of its zeroes.

Ctingeniusinfinity@gmail.com & : www.ingeniousinfinity.com



IN'='enious

Believe in knowledge . . .
[&

2.

10.

11.

12.

13.

14.

2 © +91- 9971750366, 8447026670 C<ingeniusinfinity@gmail.com & : www.ingeniousinfinity.com

If gis a zero of the polynomial

3x* —4x* —17x—k then find value of
k.
If the polynomial 6x° +16x° + px—5is

exactly divisible by 3x+ 9, then find
the value of p.
Find a quadratic polynomial whose

zeroes are (5_3J§) and (5+3J§).

Find zeroes of \[3x* —8x +44/3.

If sum of the zeroes of kx? +3k +2x
is equal to their product . Find k

If one zero of 4x* —9 —8kxis negative
of the other find k

If one zero of the polynomial

(a2 +a)x2 +13x + 64iS reciprocal of
the other find the values of a.

If =5 is one of the zeroes of

2x” + px—15. Quadratic polynomial .

p(x2 +x)+khas botll me zerc@ n | O
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equal to each other. 'I%eln\find
Find the value of k such that

3x% 4+ 2kx + x — k —5has the sum of
the zeroes as half of their product.

If (x_2)is one of the factors of

x’ —3x* —4x+12 find the other
zeroes.
If a and B the zeroes of the

polynomial x* —5x + ksuch that
a — 3 =1, find the value of k.

What must be subtracted from

8x* +14x° —4x*> + 7x —8so that the
resulting polynomial is exactly

divisible by 4x* +3x—2.
When we add p(x)to

4x* +2x° —2x* + x—1the resulting
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polynomial is divisible by x? +2x—3
find p(x)

Find g and fif (x4 + 0 +8x2 +ax+f)
is a multiple of (XZ +1).

If the polynomial

6x* +8x” +17x* +21x + 7is divided
by 3x* +1+4xthen r(x)=ax+bfind

a and b.
Obtain all zeroes of

2x* =2x* = 7x* + 3x + 6if (xi\/gJ

are two factors of this polynomial.
Find all zeroes of

X' =3x = x> +9x—6if —3and 3
are two of its zeroes.

Find the condition which must be
satisfied by the coefficients of the
polynomial f(x)=x’ —Ix* +mx—n.
Given'that sum of two zeroes is zero.
Let a, B be the zeroes of the

polynomial 3x* + 2x +1. Find the

polynomial whose zeroes are 1-a
I+
and ﬂ
1+

Given that the sum of the zeroes of
the polynomial

(a+1)x* +(2a+3)x+(3a+4)is -1.
Find the product of its zeroes.

If x°+2x” +4x+bis divided by x+1,
then the quotient and remainder are
x> +ax+3and 2b—3respectively .
Find values of a and b.

If a and B are the zeroes of the
polynomial x* + 8x + 6frame a
quadratic polynomial whose zeroes
are
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X2 —x—-12

. X —axis

. (x=pB)
a

. Three points
. Equal in magnitude but opposite in

(a) land l
o
b)1+2, 1+ %
o

If a and B are the zeroes of the

polynomial 2x? —4x+5, then find the
value of

(@) o’ +p

(b)

©) (a-p)
(d)

(e)
() (a-p)

If one zero of the polynomial

3x® —8x+ 2k +1is seven times the
other. Find the value of k.
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3,4
x2+3x+2
-7

1++2
fl@)=0

3x2—-3x+1
c b

-, —=
a a

3

2

us

Believe in knmv[tdgc L

sign

IN < enNiouUs
Believe in Enmvll‘dge ..

17. =7
18. a=c
19. 4,—4,2

2/3/4 Marks

L2
3
—6

7

x> =10x+7
25,243

2

3

Rl el

N

0
5

o=

9, p=7,k:%

10. k=1

11. =-2,3

12. k=6

13. 14x-10
14. 61x+65
a=l,f =1
a=1,b=1

2

18. +3,1.2
19. ml:n

20. x*-2x+3

21. 2

22. a=1,b=0

23. x2+ix+l, x? 32x 32
3 6 3 3
4

24. 1, —,
5

25. k:2
3

4
-6, ———, -7, Not exist.
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